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A HF0IMET A 164,659 254,386 NB9,727
HNHF XXM EHSH 15,000 105,000 A 90,000
201 et A | 15,000 15,000 0
01 AFR2t2l Yl 15,000 15,000 0
OFUXXHEH2FHI 15,000,000 =14 15,000
HANHFUEHHHH 48,920 48,920 0
301 dBEtE A= 48,920 48,920 0
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Oool&4 200,000& =141 x12& 33,600
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03322 ¥ MA 18,611,000 *=14] 18,611
OAI& &Hl KX Hl| 4,000,000 =14 4,000
HANHHE XA 73,552 74,472 N 920
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04 JI2ZtH 22 XNEE % 5,952 5,772 180
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02 33294l 9,300 10,400 A 1,100
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03 S AIS H I 1,000 1,000 0
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Oo=2g2adl tial3 AR I| S AH(H=2.4m, L=60m)
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>EAS 22,790,400 x1021 /12& 1,900
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DAEAJRAEE 691,700& x6.55/100 46
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DA EE S 22,790,400& *1/100 228
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206 i = bl 5,000 5,000 0
01 ME bl 5,000 5,000 0
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#™ 2Bl 52,484 53,715 A1,231
FHeiHolsE 2| 33,596 34,827 N 1,231

HelHol A 2H | 33,596 34,827 N 1,231
101 2124 d| 33,596 34,827 N 1,231
01 B 33,596 34,827 N 1,231

OANZIAZ22Y 9,332& x 1221 *300A| 2+ 33,596
eo123 | 18,888 18,888 0
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OZ &l 7,000 x1301%235| x12& 2,184
202 O B 2,000 2,000 0
01 2L Y] 2,000 2,000 0
O&2 bl 2,000,000& x 14 2,000
203 ¥R =&H| 10,120 10,120 0
01 J|2A2HLR=XH| 6,600 6,600 0
OHeHHE 6,600,000& 12! 6,600
02 HRJAE R =&Y 520 520 0
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